
"त
ो à

हण
ाल
ा, 

“त
 ूत
झुा

 दे
व 

प्रभ
 ुय
ाÍय

ावर
 पू
णर् 

अतं
:क
रण

ाने
, पू

णर् 
आ
×à
या
ने,
 

पूण
र् श

िक्त
ने 
प्रीि
त 
कर

.” 
व 

“è
वत

:वर
 ज

शी
 प्र
ीित

 
कर

तो
स 

तश
ी त

 ूआ
पã
या
 

शजे
ार्य

ावर
ही 

प्रीि
त 
कर

." 
लकू

 1
0:2

7

"त
ो à

हण
ाल
ा, 

“त
 ूत
झुा

 दे
व 

प्रभ
 ुय
ाÍय

ावर
 पू
णर् 

अतं
:क
रण

ाने
, पू

णर् 
आ
×à
या
ने,
 

पूण
र् श

िक्त
ने 
प्रीि
त 
कर

.” 
व 

“è
वत

:वर
 ज

शी
 प्र
ीित

 
कर

तो
स 

तश
ी त

 ूआ
पã
या
 

शजे
ार्य

ावर
ही 

प्रीि
त 
कर

." 
लकू

 1
0:2

7

"त
ो à

हण
ाल
ा, 

“त
 ूत
झुा

 दे
व 

प्रभ
 ुय
ाÍय

ावर
 पू
णर् 

अतं
:क
रण

ाने
, पू

णर् 
आ
×à
या
ने,
 

पूण
र् श

िक्त
ने 
प्रीि
त 
कर

.” 
व 

“è
वत

:वर
 ज

शी
 प्र
ीित

 
कर

तो
स 

तश
ी त

 ूआ
पã
या
 

शजे
ार्य

ावर
ही 

प्रीि
त 
कर

." 
लकू

 1
0:2

7

"त
ो à

हण
ाल
ा, 

“त
 ूत
झुा

 दे
व 

प्रभ
 ुय
ाÍय

ावर
 पू
णर् 

अतं
:क
रण

ाने
, पू

णर् 
आ
×à
या
ने,
 

पूण
र् श

िक्त
ने 
प्रीि
त 
कर

.” 
व 

“è
वत

:वर
 ज

शी
 प्र
ीित

 
कर

तो
स 

तश
ी त

 ूआ
पã
या
 

शजे
ार्य

ावर
ही 

प्रीि
त 
कर

." 
लकू

 1
0:2

7



“dkj.k vkeP;koj ;s.kkjs rkRdkfyd o 
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